
1. s = rθ
s

r
= θ

8.29 × 106

6.18 × 106
= θ

1.34 rad = θ

2. ∆t = 9.09 ��hr

(
60 ��min

1 ��hr

)(
60 s

1 ��min

)
= 32,724 s

ω =?

ω =
θ

∆t
=

1.34 rad

32,724 s
= 4.09×10−5 rad/s

3. v1 =
2πr

T
v2 =

2π(r + d)

T
Tv1 = 2πr Tv2 = 2π(r + d)

Tv1
2π

= r
Tv2
2π

− d = r

Tv1
2π

=
Tv2
2π

− d

d =
Tv2
2π

− Tv1
2π

d =
T

2π
(v2 − v1)

2πd

T
= ∆v

2π(328)

86, 400
= ∆v

0.02385 = ∆v

2.39×10−2 m/s = ∆v

4. v =
2πd

T

v =
2πr cos θ

T

v =
2π(6.37 × 106) cos 40.1

86,400 s

v = 354.34 m/s



5. T2 cos θ2 = T1 cos θ1

T2 =
T1 cos θ1

cos θ2

T1 sin θ1 +

(
T1 cos θ1

cos θ2

)
sin θ2 = 350

T1 sin θ1 +
T1 cos θ1 sin θ2

cos θ2
= 350

T1 sin θ1 + T1
cos θ1 sin θ2

cos θ2
= 350

T1

(
sin θ1 +

cos θ1 sin θ2
cos θ2

)
= 350

T1

(
sin θ1 cos θ2 + cos θ1 sin θ2

cos θ2

)
= 350

T1

(
sin (θ1 + θ2)

cos θ2

)
= 350

T1 = 350

(
cos θ2

sin (θ1 + θ2)

)
T1 =

350 cos θ2
sin (θ1 + θ2)

T1 =
350 cos 23.8

sin (55.3 + 23.8)

T1 =
350 cos 23.8

sin (79.1)

T1 = 326.12 N



6. T1 sin θ1 = 350 − T2 sin θ2

T1 =
350 − T2 sin θ2

sin θ1

−
(

350 − T2 sin θ2
sin θ1

)
cos θ1 + T2 cos θ2 = 0

−
(

350 cos θ1 − T2 sin θ2 cos θ1
sin θ1

)
+ T2 cos θ2 = 0

−350 cos θ1 + T2 sin θ2 cos θ1
sin θ1

+ T2 cos θ2 = 0

−350 cos θ1
sin θ1

+
T2 sin θ2 cos θ1

sin θ1
+ T2 cos θ2 = 0

−350 cos θ1
sin θ1

+ T2

(
sin θ2 cos θ1

sin θ1
+ cos θ2

)
= 0

T2

(
sin θ2 cos θ1

sin θ1
+ cos θ2

)
=

350 cos θ1
sin θ1

T2

(
sin θ2 cos θ1 + cos θ2 sin θ1

sin θ1

)
=

350 cos θ1
sin θ1

T2

(
sin (θ2 + θ1)

sin θ1

)
=

350 cos θ1
sin θ1

T2 =
350 cos θ1

sin θ1

(
sin θ1

sin (θ2 + θ1)

)
T2 =

350 cos θ1
sin (θ2 + θ1)

T2 =
350 cos 55.3

sin (23.8 + 55.3)

T2 = 203 N


